|CONCEPTUAL _TOOLS By: Neil E. Cotter CIRCUITS
NODE-VOLTAGE METHOD
Ref: Nilsson & Riedel, Rev 6, Prob 4.2 Example 1
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|C0??GEPTUAL TOOLS

By: Neil E. Cotter CIRCUITS
NODE-VOLTAGEMETHOD
Example 1 (cont.)

}g‘f | %a_aiua__ﬂwf we,__Solve : i are
; s f ? b I i
_wpit an ] jon af currents ]
2A 4+ v—ov & v, 55V «lDA Nrte thet current thru 2
| 1 { i
| 20439 €| i epual - s
| (Le.lv, =551 ) lacrsss the
orji_ /) / | L4 |\ \::—-ZA + 855V 2.2 and 20 Lls
: 1 — -
i \4-2. '5-‘-7-/ 5.
i
or LV, L llAi-24 =9
], 4o |50
or V, = 9A- 4iellsn = AA- 4a-sk =20 V
: P €417}
1
i
checks | Wy =120k |= |5A ), —S5Y = | —=B5V = = 7
| Yha b 2k352 Sso
P
v ( 2a \a
w + M
‘-‘-Lv SA Ly i~ A 551 - SV = =21+ 20V -=I14/
- ovl- By = =55V + (Rie20+14) V
v 3 / = oy vV~
: ==
5 4'%—// Kirtha# V (,ao.p
check: e k| of dop node e s +5A-A=0
. Cale te pawer r 2A| gource: p= Liy = 2A-2V = 4dW
oo I
‘ p>0 = | prwer absor bedl




